Section A. yGar €t Hedt ArEardt

Name of the school A.J.H FAJE
Name of the teacher AR frw

Class 6T

Subject afes

Name of the chapter Aftmiet 51 a3eT

No. of periods required to | 8
teach the chapter

RdAs- ot - 69H / 219 mi3 HEw! Acardt
B.1 tiles fég @93

H.A.E »3 B.A.T & 3o riles St HAaST § I8 a6 o9 T3 dist ar Aaet J, fAw -

1. 3§ 3 76.fa.ar M3 70 fa.gr.3< € € dic udie 379 €t §J U I U H3T U™ &3 AR &%
difentt € 379 T Adt HY U3 i3T 77 A |




2. {36 %30 fed AE® 3 I8 Y J9< 96 | Ufaw & aeH fRF 63AH. w3 gA 70 AH 9%
=N =, v - . e N Y v = 0~ . =N
J18T we 3 e THS U™ &9 3t fAgsT &< f¥a fid aeH % 3 &9 AaT |

3.f&x T <t Haret 93t M3 GO PHET 820RH,670AH W3 420 AH T 1A 3° HEt U U
g9 AR &% &HI § YT YIr HT 7T A |

4.f35 nigt T &8¢ 3 22t Aftnr uzT a3 fAgst 6, 8, »i3 12 &% Ydt Yt €5 A A |
5.f3 wigt €t <5t 3 < Aftor Uz &9 ATt 8,10m3 12 &% ydt-ydt 5T 7 A |

6.f35 Y-y I9fAHaT 3 23fex €t Hfee 99 48 Afas,72 Afas 3 108 Afas amie gewd I
H ®fee ARS 7 @n fedat sl 3 3 §T vurar feg fas = feda! sedd |

7.3% = 35 Zat &9 gHeT 403 foeg , 434 focg, M3 466 foeg St sfonr T | fEx 2 <t
<U 3 ¥U AHIE U g9 fAR &% 3ot S <98 3tas § yor-yar vt 7 A
33 ¢ foun & I g Gor Bt <af3n AT AgeT T -
1. sfenft fE9 39aYTs AY feafAs 96 |
2. HAG® & I% a9 feg AN &t ¥ |
3. Haras & Yiftmr fdw ergfons yrst § I8 a96 f<u Aaret |

He®! Aredat & I € 5aHTS -

1. 99" wiAs fredh ST udle , 39 A TUTK HAGH § & &I6 € Wdl &1 J Holar|

2. 9T HargsaHI < feHf3Ts™ & AN fAg f3nst 5dt a9 Adar |

3. Bn &1 A9 fen fAe” geoust 3 fafonret | eAHSE w3 AHETT § AHSE niur §
redr

B.2 Bu feR § A® a9st .-

1. yfaafsa Aftmret ygs Aftmret & v gaaret |
2. JTOHS M3 TSH

3. fAAS »3 2ia Aftpret |

4. w3H W3 3 Afamret

5. W3 JEEUSIATS M3 AfT ngH ITSUSIETS |
6. H.A.¥ , B.A.T m3 §Ist o% AU fafomret |

B.3 fredft € 3793

1. fen &% ¥9 € 39xYIE IS w3 AUE & A&t UM IPublic speaking skills i.e. Speaking your
mind/ your thoughts

2. fen &% ¥9 ST I3 o<t ads < A3t i3 Ao <qaft |

3.fa§ , &t »3 fa? w9 Aoe & Aot <hat »9ETs ¥F 39YT AaSt <Udt |

4. fysessz & gest n3 A =9x o frde <t seat <aat |



B.4 HEE<H Vocabulary
Urret mi3 wiaror! & <t meeed! @ 9 fAn § §9 wifunrfe 396 AR <93 Ao 6 |

O

FACTORS - dIcaus

MULTIPLES- dreH

COMMON MULTIPLE- AS Jr&ed

COMMEN FACTOR - A8 JIcods

EVEN AND ODD NUMBERS-fARS m3 2iq Aftmret
PRIMEANDCOMPOSITENUMBERS-»3™H W3 3/ Aftmret
PRIME FACTORISATION - »3H JIcoys
HIGHESTCOMMOMFACTOR-HJ3H AHUSI3A

LEAST COMMON MULTIPLIER + ®BW3H AHUSJI3T,

PRIME FACTOR TREES - J&a83T €43,

AdHe -H - Hew! AEadt »i3 Bt At <9 AT AETfUs J96t
35 fatintt fafomet &% mfomug us Bg JJar :

JHH OB UET € 6 &3 I | B9 fegs’ § a3t g fer yaa sare order J 3
fa J9a a3 feg AHS UET nT AT |

8 fegst § fer yarg #zer I 3 g8 Uiat o fHe8e J |

@) Jorg €71 Ugg 794 319 feg mar8er g 3
F31at ot farest =6
d® UEd = 1x6 =6
(ii) Jorg 87 2 U9 99x a3 feg war@er T 3t
I3 ot farest = 3
dBUEI =2x%x3=6
(i) Tog €73 UyEg I3k I39 feg marGwr T 3¢
39t &t farest = 2
ABUEI=3%x2=6
fer 3 fewe 3w f¥x It Ag<st g9<t J fa 6 udg f¥a 4t a3 feg wr A
I3 ot farsst = 1
JBUEI=6x%x1=6
fer arzat 3° IHE feg fier aar fa 6 § € Aftmet &t giet € gu fefe fer yag
fofar 77 Al T
6=1x6;6=2%x3;6=3%x2;6=6x1



6=2x33 fegfaormrAge I fa 2 "3 3,6 § YIr-ya' <3¢ 5 |
fer &gt 2 M3 3, 6 € At 3HA I,
AT T 31 M3 6 , 6 € AJl FAS IS |

H1,2,3,6 d16 € AN 7 75, fAgst § 6 € Jeaus faar AT J1
feR yarg 18 utgt § fex 379 ST Jue JIT 18 € Jeots Us™ a9 ?

AaRG-31 o9& QU fer & €3 w8 fEa macifeet uldns

Uldn | oft T S5 IWhat to be covered
g

1 Bu fer &t are-ufgers, wiat @ qI&7 , widt & 3191 ITHUST W3 JISAT T TrgeT wiftmrfe 3.1
&t fugst areardt |

2. fue® nifomrfe T 43 HonaE
ARz ¥id M3 2 M M3 i M3 31 Aftmret nifomfe -3.2

3 fues mfofe & ¥z Hemiae |, 10,5,3,2,4 % <3 € fouH w3 nifomrfe -3.3. € yrs

4 fues® mifoorfe T 43 HewiaE |, 6,8,9,11 &% <3 < fouH ni3 niftrfe -3.3

fue® miforfe T 43 HewiaE |, AS JcaUs 3 AS ged »i3 mftfe -3.4

6 fues® miforfe T 43 HEWiEE |, M3™ W' T JToUSIAGE 3 mfofe - 3.5

7. fues® miforfe T 43 HEWEE , HI3T AHURTSE »i3 niftrfe -3.6

BWIH AHYSISE M3 H.A.E M3 B.H.S o5 H'gl'q?ljﬂ?i

Aams -( &) fafonr Atwe w3 ( Uidnz @ wisasustéa )

JToust Ot

"B

9 79a Uidis S8 yrs Yz BEt Agad It §3Afas d&dt mi3 niftmiud enrar gaet 839 fosr Aar |



Bu-Aams -1 Uidles & fitet vigAg <5

YR 96 Qud3 | 5fie | wifmmua dfenit § <u- < Aftr
i Tt fie* Trsfea Aftmret wife T vyd ySifgur e=ai
g9 YR »i3 €It A% U= |
fugdt Areadt | 5file | wiftmug Sfamit § 6 &y -3y wioug a8d 398 M3 Y-y
dt gagret THI &t AUTEsT &% 9T Af Gorgast @ =93 I |
nifez 9287 Bt qdar |
ufgsar 5fic | areoust € ufgsmr
g 98d §98 & 93 ddan
3 ufggmr § fodar |
fafomr 10 fie | nifomua fafanr a9 & feurgar Use Annexure GA1l
o<t w3 39ayT | 10 fie | GC5 e yrs Use Annexure GC5
T Y T U3 Bl
Urad
H3 HonaE 5 fie | Icoust St ufgsm er yzg GC1 AND GC2 ALSO GIVE
HEWEE HOMEWORK FROM GC1, GC2
AND GC5
Bu - Aams &-1 vidhns -2
Y<H 396 Bugs | 5file
iy iU JecUst M3 WS S aH | §9 Myt ySifamr e=at
g9 YT |
fugdl Areadt | 5 file | B0 Bust § du -3y Aftret €
o gaorst ToUS ni3 ISH UST 96 B Wi 98 898 n3 Y-y
gar Gerggzst €t =93 I9ar
ufgsmar 5 fiie | AR Aftmiet | 2ig Aftet, »i37 | miftius 98 993 & <93
A »3 3H Aftret 3ar w3 ufgsmar § fedar |
fafemr 10fHe | weTH Hftmr 3 fafnr Use Annexure GA3
o<l 3 39ay9 | 10ffe | Gee e yms Use Annexure GC6
T Y T U3 Bl
g
HI HOWAE 5 fie | vizm,fARS,2 @ Aftnr &t ufgS™ | GIVE HOMEWORK FROM GC6
THI HOWGEE




8y Aams -g1-1 Uiz 3

Y<H 396 Bugs | 5file
WIS IH T9 Yar |
fugdt azadt |5 file | uzT ad fa fodt Afwr far J9
o gaorst X &8 <fsmr e T A 5t Wi 98 598 ni3 Y-y
gerggst €t =93 I9ar
ufgsmr 5 fiie | 10,52 3, 42 s foum
nfmg 98 993 & =93
39T i3 ufgemr § fedar
fafanr 10 firz | <3 @ fount &t .. & feu@ Use pptl
o<t w3 S9ays | 10fie | 7 8 ymo use Annexure GC7
T A9 O Y3 &l
g
H3 HonE sfic | <3 @ fount @ 43 yomiaT GC7 f&9' we v aw fe@
8y Aams -g1-1 Uidniz 4
Y<H g96 8ugs | 5fie
mftmug nfmug <3 € foud mi3 fue® | 39 mut ySifgnr 84t
WIS IH T9 Yar |
fuzst meast | sfie
o gaorst Uz a9 fa fet Aftr fam 99 wiUg 98 598 ni3 Y-y
WS 5% <SS Afer T A 5t Gerggst €t =93 I9ar
ufggmar sfic |6, 8,9 M3 112 €3 2 fauH
it g81 8935 ©t <93
F3ar w3 ufggmwr § fedar
fefanr 10fiie | <5 @ fount €t utat.dt feurg Use pptl
o<t w3 39S | 10fie | 7 'y use Annexure GC7
T Y T U3 Bl
g
HI HONAE sfie | @3 @ fouHt @ ¥z yoniaE GIVE HOMEWORK FROM GC7




8y Aams -g1-1 Uiz 5

Y<H d96 BuTs | 5file | miftmiia wigma Aftret w3 fuss
s W T IH 9 Yaar | ¥ vyd ySifgur e=at
5 fie | IToust M3 gIEdt 99 yest
fuzst mreart g g8 §95 »3 Y-y
& goordt Gergast & =93 F¥ar
yfggmr 5filc | AT aIco83 w3 A3 aIeH
it g81 8935 ©t <93
94T w3 ufggmr § fedar
fafanr 10 fie | feR ¢ AURE &9 ®el Y=Y USE CONTENT FROM THIS
Gerggst fe€ LESSON
o<1 w3 39ayT | 10fie | Ges fed yms Use Annexure GC8
T RO 1 U3 ®al
ysra
HI NS %:Ir;in <3 ¢ fouHt @ 43 HovaE GIVE HOMEWORK FROM GC8

8u Rams -gt-1 Uidinz 6

Y<H 96 Bua3 | 5fie | wiftmiua nism Aftret w3 fuss

it WIS EAH TJ Ygar | 9 Myt ySiftgor 2=ai

fugst areaat | sfife

o goorst fe3 98 niat € JITOUS UST AT’ | nifimud 989 598 ni3 Y-y
Gerggst €t =93 I9ar

ufgsar 5fie | »3W JEeustaas
nfmx 98 993 & =93
3 mi3 ufgsTar § fostlar

fafanr 10fiE | primates Use GA4

o<t w3 39ayT | 10fie | Ges fed ymo Use Annexure GC8

T Y U3 Hal

g

HI HONAE S5min | <3 € fouMt & 43 yomiEE GIVE HOMEWORK FROM GC8

ird

8y Aams -g1-1 Uidinz 7



YR g96 8ud3 | 5fie
mfgnux nigug gieets nis fuss T Myt ySiftger S=at
W TIH I Yaar |
fugst meadt | 5fie
o goorst fe3 nigt @ »ZH JTOUS U Wi 98 598 n3 Y-y
It Gerggst €t =93 I9ar
ufgsmr 5fic |HA®
g 98x 593 € 93
3 w3 ufgsTar § festlar
fafanm 10 fire | 8T Sy-<y Geggs »3 Yadtaw | Uacas ac ¥a
dcgx Idt H.A.T & ufgsmr
AHS™=ar
< w3 39T | 10fie | Ge9 v yms Use Annexure GC9
Z AU © Y3 Bl
g
HI HOWAE %ﬂgin <3 ¢ fount @ 43 HowiaT GIVE HOMEWORK FROM GC9

8y Aams -g1-1 Uidmz 8 M3 9

Y<H a96 Bugs | sfiie
g mfmug HAE W3 fu=d ¥ wyt ySifgor e=ai
W TIH I Yaar |
fuzst meaat | 55fiie | f€3 widt @ H.A.T U3 a9st
o goorst Wi 98 598 ni3 Y-y
Gerggst €t =93 I9ar
ufgsmr 5 fiie |HASM3 BAT
i 98x 593 € <93
3 mi3 ufgsTar § fostlar
fafanm 10 fiie | 8 Su-<u Beage 3 Yaia®
dogd It H.A. &t ufgsmr
AHSdr
o<t w3 39T | 10ffie | Gelo fed yrs Use Annexure GC10
Z AU © Y3 Bl
g
HI HOWIGE 5 file | <3 @ fouHt & 43 yomiaE GIVE HOMEWORK FROM GC4




RIAG-ME ( ITREL 3o farfnit fafomret a5 witmiia Uts Bg S34T :

JHH 3% UET € 6 a3 J6 | 8 feas’ § a3t {9 fer yag Aset gder J 3 fa
J9K IA3T g AHS UET nff AT |

8u fegst § fer yag Aze I i3 g% YT o6 fHe8er J |

@
@) Jorg 87 1 Ugg 991 a39 fegmar@er 7 3t ®
379" ot farest =6
% Ugd = 1x6 =6 ®
®
9o
®
(ii) HTorg €7 2 U9 99k 39 fegmar@er T 3t
a3gt €1 farest = 3 ® O
dBUET=2%x3=6
o ©
® ©
(iil) 779 €T 3 UE9 I3k 39 feg ®arGer J 3¢ e o o
a3gt & farest = 2
3:(?751-[5!_0’=3><2=6 ® @ ®

fer 3 fewe 3w f8x It Ag<st g9<t J fa 6 udg f¥a It a3 feg wr A
319t &1 farsgst = 1
JBUEI=6x1=6
fer arest 3 IHA feg fier a<ar fa 6 § € Aftmiet €t giet € gu fefe fer yag
fofemm 77 FeeT T ;
6=1x6;6=2%x3,6=3%x2;6=6x1

6=2x33 fegfaur A AgE" I fa 2 M3 3 ,6 § Y-y <3¢ T3 |
fer &€t 2 w3 3, 6 © AJt IFK TI&I
AT ST 3 1 M3 6 , 6 € AVl AR IS |



A 1,2,3,6 , d1 6 € AJt 37K I6 , fAdst § 6 € IJeods faar Aer J

fer yarg 18 utet § fEx 39 €T Jue I 18 € Jeots Us™ a9

3.2 IE6US w3 ASH

Hat mifAd 389 B3¢ Tdel J fAgs 4 § yIr-yar <3< 6 | 89 4 § Jo g Suat
&% feR yarg €3<t JIMary wants to find those numbers which exactly divide 4.
She divides 4 by

numbers less than 4 this way.

4=1x4

4=2x2

4=4x1

8 Tueh J fx 4 § fer yara s 7 AgE" J

4=1x%x4;, 4=2x2; 4=4x%x1

3 B8R 3 Uz ®aIET J & 1,2,4 % 4 € YI6 37 I6| fegst vt § 4 € Jeots
fagr Aer 9 |

[&R Al e geads 6F Alev e Yoo FAa e J |

fos fe@ fa 4 e I3 T8 4 F e A 4 T I 9T J=r T |

YN W W W A A
1 Row x6 Stars/Row = 6 Stars

A 7} A 2 Row x3
7/\, W{ 7}\' Stars/Row = 6 Stars

) B 1



) 1

T/‘\'
T)‘f
W 6 Row x1 Stars/Row
). = 6 Stars

T/‘\

W

fre fa nirft Su ot fa Wi 6 § © wiat <t gzt @ gu 9 &t yar fou Aae
It fae: - 6=1x6=2x3=3x2=6x1
1,2, 33 6 It 6 € ATl A TS

ARRANGEMENT OF FOOTBALLS

8 g2 B8 m3 BIst § vidar-nidkar 3dtfemit o 393ty U war@

1 39t x 8 diet = 8 giet

-_ 4 - O\

2 II9t x 4 et = 8 diwt



& &
@ @ 4 I3 x 2 Jret
@ @ = g8dret
° & &
% 8 a39 x 1 diet
&
& = 8 die
&
&
TS o ufgsr ;-

faR Aftmr o reats 8A Aftr & YyI6 7a g 7
i.e.fid" JTGUS &8 Afthr § 3791 &3 AfeT J 3t Idl 0 F9€T T |

4 x5=20

4 W3 5, 20% JTHHS TG.
At feg R afarae I fa 20, 4 M3 5T A T |
fer 3T : 2 x 12 = 24,

2 M312 ,24 Q@ JTGHS TG |

At vl feg <t afo rae 9 fa 24 , 2 w3 12 ¥ J1EH I
fer yarg Aftmr nuE gestst € gen Jet 7 |
2 €Jed = 2,4,6,8,10,12,14,16,18,20,22,24...
3 @4ded = 3,6,9,12,15,18,21,24,27,30,33,36,...
15 @ gr=# = 15,30,4,60,75,90,105,120,135,......
The number of multiples of a given number is
infinite.



4 x 5 = 20
JITHUS aIEH
o T3 At T JIE6HS Jer T |

* I3 JEoUs B Aftmr T Y36 IHR J' I

« I oYU SF Aftner 3° Wie 7t I9E9 JET T |
* JIX Afthr B FrEoys forus J€ I6 |

e IS IEACH Al 3 Sy A GRS S9gg Jur T |
o & Aftmr @ grEat <t Aftr wizfarEs 31 T |

o TJI Aftpo wUZ Wy e gIEd Jeit T |

@ SE X TS i3 ATAT I9 WAt ot fieT e It ;-

1.3 3t mifAar wix I fAT3T IIF Aftmr T JIT683 < ?
It 1 rifAT wix T |

BTggz e 6=1x6,18=1x 18 nife |

feR yarg g3 J9 #x %3 |

it Afg AaR Tt fa | IS A e e qIEA @ |

2.9 7 MUE Y T JTHES T 2
It oAt 78 feR usag fed Aree ot 7=7 x 1.
10 M3 15 € I3 mAT &t &fg Aae It.
wiHt afg Aae It fa I3 AftT UE niny T JIEaHs gt 7 |

3. 16 © fa03 I=683 g€ I5 ?
feg 1,2,4,8,16 351
fegst &g at 3t nifraT Ieats J fAgsT 16 § & 5T J=?
20 M3 36 BT UIIH a9
3t B4 fa f&x Aftmr & 99a geous 8 Aftr @ yIs IAE ger J |




4. 34 % I3 qcoU3 g€ TS ?
feg 1,2, 17 m3 34
A3 3 37T gIceus faazT 3 2
feg 34 mmudt g |
o Jeous 34 3 Ue I6, fAe 1,2,17 nife |
JT 64, 81 v 56 BT UIIS a9l
wiHt afg Aae It f& Aftr & I3 JIEous SR Aftwmr @ S9 g A BR 3 We e @

5. HAftmr 76T 5 ATEES IS |
136 M3 96 © fad T3 g=adr ?
3IHAT fegst feg' I3 Aftm T I8 U™ ad Ao d I3 feg fas @t <3 faf &
d= fA= 10576,256427 39 < <3 |
fer yarg mrt afg Aar 9t fa &3t Aftr @ geoys forfes g8 T6|

6. 7<% Jd faa3 I8 2
AURe I & 7,14,21,28 .....d=dr |
IAT SYdl fa I9X IEA 7 3 <3 AT 7 € gITgd J<dr
ot I3 Aft™ @ A8y &9 mifgar It g<ar ?
6,9 M3 10 € ASY {9 U33®% a9 |
wiHt Ui fa I9 aIEH R Aftr 3 <37 71 @R @ g9rg9 I=ar |

7. 52 3cA oy
feg 5, 10, 15, 20, .»ife It |
ot IAT AY Ao J fa feg %31 ¥3H I Aael T ? 50t feg u3H &dt' & Aot |
6,7 ,8 Mife 919 US3H a9 |
fer yarg wirt eue It fa 991 Afthr @ grEa wizfares € 75 |

8.l 7 WUE WMy T JEH T ?
gt faBfa 7 = 7x1. dt feg J9 Afum< Bt S A9 T 2
3,12 »i3 16 B USIH a9 |
At 2Ydl fa g9 Aftmr vuE wiry & giEA €1 T |
3 3 IH Aftiei(Prime and Composite Numbers)

IT WHT ITa8sT @ g9 &9 AT ¥a J7| fen 2% st Aftmet @ Jcaust g9 AS



Numbers Factors Number of Factors
1 1 1
2 1,2 2
3 1,3 2
4 1,2, 4 3
5 1,5 2
6 1,2,3,6 4
7 1,7 2
8 1,2,4,8 4
9 1,3,9 3
10 1,2,5,10 4
11 1, 11 2
12 1,2.3,4,6, 12 6

(&AT Ty It fa 1 T MU miy 3T 3 & IIcats 3 |

(MNFTS WA € 1 M3 MUE MY AHS 3= € Jeods 36 | fegat § It nigw Aftret
fagraer d 1fa 3,5,7, 11 mife|

89 Aftmiret fAgst € 1 M3 WUE »y AHS AT 2 JT6HS TE I6 § W3 Hitmet

fagraer 3 |

fegst 3 fewer 99 mis Aftmet U3T 9 |

(T) IS Aftmret ¥ 2 3 fimeT gIcats gce I6 fAR 4, 6, 8, 9, 10vfe
fegst Aftmret § g Aftret fagr Aier J | fAgst Aftret @ 2 3° frivre geats
g&¢ 6 § I Aftret fgar Aer J |

ot 15 & 3/ Aftr T 2 fa€ 2

18 »3 25 % g9 &g 3T &t &Jat ?

1 3° 100 3 W3™H Aftpiret FY 3913 5% U™ a9 Ao 7 |
feg 3dta™ @odt Mathematician Eratosthenes,d 3 At =t .H feg fosr|
wg feg 33t 241 1 3 100 3 Aitmret €t § gH <9 JIo f5d nigha %8 :




xr 2 3 x 5 & (D & % 10
iy 1 (13 M 15 16 (A7) 18 (9 20
€4 22 (23 24 28 26 27 28 (29 34
B) 32 33 34 35 36 (7 38 39 40
@) x @) a4 45 46 47 48 29 50
51 52 (53 s4 55 56 51 58 (59 60
6) 52 63 o4 65 66 (67 68 69 70
) 1 @) M s w6 M 1% 79 86
81 82 (83 84 85 8 87 88 (89 94
99 92 93 94 95 96 (97 98 99 100

Step 1 : f&x § de fe@ fa@fa feg nizm Aftpr &gt J( Cross out 1 because it is

not a prime number.)

Step 2 : 2 QU3 g9 ®Ir€ , 2 3 fewer 2 ¥ AT IIeA’ Bug T Bar i.e. 4, 6,
8 W3 I3

Step 3 :

IHT SUdI & g faat afem wig 3 T | 3 BUT 99 %A@ »i3 3 € AT JieA’ Bug

JicT Barg |

Step 4 : »ia foat Ifen wig 53 | 5 BUT I9 BAr€ w3 5

< A9 JIeAT QU9 e ®arg |

Step 5 :

Ao 39 AG widt 3 9ad A &S 5d1 o 7w B8R AN 3 feg fafawr At it A< |

3 Hitmiet 76 | feR 3J1a § Sieve of Eratosthenes faar AT J |

ufgs Definition

#* nigH Aft - fATS Aftpr T 1 3 wUE My 3% € JITH4US IS¢ 96 Saot

g vig Aftret fagr /e J |

7 f&a vz 3 fa@fa 7 a=® 1 m3 7 &% It Sfsmr AT T |



w3 Aftret dhit Gergast

2,3,5,7,11,13,17, 19.................

Special Note:
1 W3 Aftn 5t G |

Ufgsar: - 3/ Afthret
89 Aftmret fagst ® 2 3° friver JIEaEs Jd¢ 6

GerggzT wEl

8 € JITou3= 1, 2, 4, 8 T frAgdnf fa
3 Aftmret dnit @ergast I6
4,6,8,9, 10, 12, 14, 15................

Special Note:

Every whole number from 2 on is either composite or prime

Our Lonely
number 1



It is not prime
because It does
not have exactly

two different

factors.

It is not
composite
because it does
not have more
than 2 factors.

Special Note:
One is not a prime nor
a composite number.

faAs w3 2ix Aftret

2,4,6,8,10, 12, 14, ... fer %31 3 3H 3Tt Ucds aue J?
AT U X T WX 2 T IASH T |

fegst § AR Aftiret faar A 3 |

el v fAe 1,3, 5,7, 9, 11,..8 & Aftmet fgar Afer J



AT feg By Aae J fa € widt w3 f3& niat dnft Aftret fAAs g6 A7 531 |

AT feg fa= Uz ®arGar fa Aftmr 756482 fARs I AF &dt ?

AURAS 3 f& 2 &% 3191 S9dT |

ot feg 3dtar yRfa® adt T 2

gt feg 3dta HRfa® T |

&g U3T 96 & WA Afthr © fearet © AFS © »id 99 A0 |

a9 fearet © AgS € "X 0,2,4,6,8 I 3t fog Afunr fAAs d<at|
w3 Ax9 fearet ¥ AES ¥ wix 1,3,5,7,9 I 3t feg Aftmr 2ix 23t
wiHt afg Aae It f& fearst @ AES 3 0, 2, 4, 6, 8 Wid JF 3t feg fARs Aftmr T
w3 Ad9 fearet ¥ AES ¥ »ix 1,3,5,7,9 I 3t feg Aftmr 2ix 23t
fer &t Aftmret 350, 4862, 59246 fAR3 Aftmie’ I5 |

A< fa Aftmret 457, 2359, 8231 2 Aftw= I6 |

W I3 J9 J9 37 U3 aIe Jf |
(a) AF 3 22t fans Aftr faat 3 2
feg23di
A8 3 &2t mi3™H Afunr fagdt 3 2
feg@t 231
A 2 AZ 3 22t vig Aftpr 3 fagdt fARs T |
(b) I9 w3 Aftmret fAR" 3,5,7, 11, 13, ...
fer w3t f<g at faRzs Aftnr 3 |
FURS J &1 |
fegoAd Ta I5 |

R wirt afg Aae Tt fa 2 § &3 & Tdt At g™ Aftet 2ig T |




1 2 3 4 5 6 7

How many? Odd or Even?

z

=
=
=
=



U
o
AR

18 12 10 5

w

7 20 1 9

24 2 6 28

Az Aftnr T feaet © Ags 3 fagz-faas »ix 9€ 95 ¢

Zix Aftnm © fearet © AE® 3 fFozs-faoz via I I8 ¢

ufgsar Definition
w3 Afthr - fAgat Aftr 1 w3 U2 vy 3 3 <31 7 AgEt & @R § vigw



Gergaz @ ; 7 f&a vz Aftn T T 3% 1 v3 7 5% I1 <=1 A7 Aol T |

Find all the prime numbers by colouring all the times tables. You should then be left with
all the prime numbers. Start with the two times table — but do not colour the 2 — why??

1 2345 6 789 10

11 12131415 16|17 18 19 20

21222324125 26|27/28 29 30

31 32 33 34 35 36 37 38 39 40

4142 43|44 45 46 47 48/49 50

5152 5354 5556|5758 59 60

61 62|63 64 65 66 676869 70

717273 747576 777879 80

81 82/83/84/85 868788 89 90

91 921939495 96 97 98 99 100




’\@ A Monster says...
f ODD numbers ....

1,3,5,7,9..

All the ODD
numbers are

mine!

Fairy says...
EVEN numbers...




0, 2,4,6 and 8

EVEN numbers are
really great!

Aftmret &t S3TRIRT < A9

ot 38 WA 2 31 4 &% A 5 & ST AT AGET T 2

WA f&9 391 &9 & WAt U3 I91dl fa 38 fAgE 2 &% It e s AT J |

ot WAt It Uegs %3 Aae I fa aet Aftmr 2,3,4,5,6,8,9, 10, 11.

% <31 AT AdEt 3 A7 5d1 ? ot wif AT Ueds WAt 51% Hfsnl 7T AgeT & Af &dt° ?
10 3% SHAAST ;

9'g 10 € geat § euet I |

IO@EJETU?S 10, 20, 30, 40, 50, 60, ...

ot AT ¥F Age J fa €9 fegst feg ot AST @yt 9 2

87 Su<t I fa g9= feu fearet @ A 3 0 »B<t T | fA=° 100, 1000, 3200,
7010 .....

89 feg <t Syt T fa I3 Aftn 10 &% 391 J Aae T |

81 feg fier d=dt I fa A feardt @ Ags 3 0 BTt T 37 fEg 10 &% Fawar J |
fer 397 IAT 100 &% FAEIST T fouH 3 AaE T |

5 5% IOGIIST ;
Mot 5, 10,15, 20, 25, 30, 35,...... Afunre feg I3 J9a Ucds 2ueT 3 |
ot IAt fer Ueds 979 €A AGe T ?

fer Uzgs feu feardt @ ATS <% < |
feoAIngAT3T 0TS A 5375 |



Hot &9 J9 Aftret et 3 fAR'105, 2153, 6205, 3500....

fen Ueds feg S feardt e mE® 3 0 AT 5mBer |

87 23,56, 97 At § 5 5B 3 A ST T |

ot €7 mifAgr a9 AeeET T ?

&dt, feg Afunret 5 &% ydni-ydintt 5t <5t A7 AaEingt |
g Suwr T fa fAgSint Aftwre @ feardt @ A6 3 0 AT 5 3
89 5 5% <t 77 e T el Aftnet @ giell gger T |
Aftmr1750125 & 5 &% IaIdT U3T &9 ?

Divisibility by 2 :

9'g 2 € I3 g eyel d

fAe 10, 12, 14, 16... W3 I3 99 mid fA=" 2410, 4356, 1358, 2972, 5974
89 f&x Uegs Syt T

fegst Aftmie’ @ fearet @ AFS 3 &< 0,2,4,6,8 MBET T |

89 fegs’ Aftmie § 2 5% 3¢ 3 Tt 0 YU FIet 9 |

89 feg &t 2udt I & 2467,4829 Aftnret 2 &% 3191 5t 7 Aae faBfa feast
Aftmrret @ feardt @ Ag® 3 0,2,4,6,8 5t T |

ferz Qo feg i ot I fa et At 2 s ST A AT T AAer T A GR @
feardt @ I 3 0,2,4,6,8 = |

3 5% IAGIIS ;

at Aftmret 21,27, 36, 54 w3 219 Aftwr 3 5% 3191 I Ao I6 ?

T feT T AGEt I5 |

ot Aftret 25, 37, 260 Wil 3 &% 391 J ASET IS ? &1 |

SAF St UA Sy T 2

Hftmr 21189 fearst w3 €0t € AFST 3 Widh € A3= 2+1=3,

At 36 &g fearst w3 20t € AFST 3 widh & 133= 3+6=9,

o/ 397 54,219 nife &9 2 5+44=9, 2+1+9=12.

feg A9 A3 3 5% I IS |

o Ry

fer 39t 25,37, 260 nife 8 Wit § A3 |

WA YUz a9 It 2+5=7, 3+7=10, 2+6+0 = 8

feg 3 &% 3191 5d1 I |

nirt &fg Aae If fa 7 Aftr @ wiat @ #3 3 7 9IeA J 3t €9 3 5% IamaT T |

ot 7221 Aftsr 3 5% ST T 2

6 5 IILAST :

ol IAY mifaaT After €A AGE O fAT3T 2 w3 3 B0 o <SS AT AGET 3 ?
mifaat f&x Aftnr 18 T |

ot 18 2.3 W3 6 &% 3T AT AT T ?

ol

18 fAdmt I3 J9 Aftmret U™ a9 fATS 6 &% It A Aot I |



ot IAT feaer 8T Aftr ¥R AGR I fATSt 3 &% 3791 J AKET 3 UT 2 &% &1 ¢
wifAdt After 27 T |

ot27, 6 3% 391 J AAET T ?

a4t

27 vifaamt 39 Aftpret Uzt a9 |

fer 3 wirt feg fieT e Tt fa froft Aftmr 2 n3 3 Sot o SF A RAEI T €T 6
% d F A HAE T |

4 5 TGS

ol IA 35 wiat & Aftr ¥A ASE J fATSt 4 5% 341 T AGE T2

mifAat f&x Aftmr 212 T |

mifAdt 4 wigt &t Aftper €F | mifadt 1936 T |

212 2 feaEdt M3 gt e AE G I NI AW fETg 12 T | fAT3T 4 5B 39T I AT T |
IS 99 Aftr AR 4612,3516; 9532 nife 24

ot 286 AftmT 4 &% 3191 I AaET T 2

&1 |

ot 86 , 4 3% 391 J AT T ? &7 |

A wiAt feg fieT aee It fa 3 A <u niat Tt Aftmret 4 &% 3t 31 3191 I At
Js 1 o © fearst w3 o=t © AFaT © Wik 4 &% 391 J AGE IS |
fea At @ wiat TH Aftr & I9earsT <t 719 i) 391 5% i3t 77 At T |

8 3% IS

at Afemret 1000, 2104, 1416 WX 8 &% 31dT I Aot I ?

WAt 24 AGE J7 fa feg 8§ &% 3191 J AgE I5 Ifede’ @ feard!,earet m3 A3 <
AES 3 widt § 28 f&g 000,104,416 I6 | feg AY 8 5% 391 J AaE I6 | MfFg
IS II NI UIT AT , fA= 9216, 8216, 7216, 10216,9995216 mirfe |

AT |4l fa feg wid 8 &% 391 I AGE T6 | WAt feg fier awe It fa 4 At

U midt TEMT Aftpret 8 &% 3t It 391 7 ANt I 7 feast @ fuEs 3 niat &t
Aftmir 8 &% a1 7 A .

ot 73512 Aftm 8 3% IGdT T 7

9 5% ST :

92 aEd 9, 18, 27, 36, 45, 54,..35 |

I3 J9 Aftmret A 4608, 5283 < 9 &% Id1 Wl IS |

dt AT ATt Ueds %3 AT J AT feast Aftpet € wigt § Afzwr Aer g ?
1+8=9,2+7=9,3+6=9,4+5=9
4+6+0+8=18,5+2+8+3=18fed A9 A3 & 9 &% I T |

St 758 WK 9 &% ITAGAT T ?

adt

faBfawidt & 83 7+ 5 + 8 = 20= 9 &% Il &It I



nirt fer fi2 3 udee It fa A Aftmr | widt T A3 9 &% 9T T 3t Aftpr wiy S
9 3% Il T |

115% SIS :
Aftmret 308, 1331 »3 61809 A 11 &' IIILIdT Is|
WAt f&a 29% 9582 I A f&x Ueds ga€e T |

Number Sum of the digits | Sum of the digits | Difference
(at odd places) (at even places)
from the right from the right

308 8+3=11 0 I11-0=11
1331 1+3=4 3+1=4 4-4=0
61809 9+8+6=23 0+1=1 23-1=22

WAt Sue T f 99 %3 feg wi3g AT 310 T AT 11 &% Fawar »i8e I Ifeg A9

WX 11 &% < AT TS |

5081 Wi B wiat & w39 (5+8) — (1+0) = 12 T 11 &% I 5t T |

F 508131 11 &% IaGdT 6t T |

A faR Aftnr € 11 &% I9GdsT &t g @ fouH 3 fa, /8 UA 3° 29 AFST 3 AfEs
N AT TS fAAS AS @ Nl @7 A3 T 3T UITAS | ANSI 0 A 11 515

ITIIGIAT I 3T AT S 11 5% FAEdT T |

W3 JTHUS TS

Afsn &9 o3 Aftet @ gIEads 9F |
(a) 4 M318 < Jcous a3 T ?
42 JTHES 1,2 M3 4. To|
18T JE583 1,2,3,6,9,183T5 1.
1 73 2 N 4 3 18 €JF & IIT6YS Io| feg 3t ATS Iceds I6 |

(b) 4m3 15 € A'S IcoHS faas 76 2



fegst €0t fegad <% 1 It AT JIc6483 T |
73 16 € g9 IAT ot FJdr ?

€ Afthret fist &9 aew f&a It AT geous 3 8ust § Afg-we fagr AT T |
fer yag 4 m3 15 Afg -mizd Aftet 96 |
at 7m3 15, 12 M3 49, 18 w323 AfT -m3™ Aftmet I& 2

(c) St it 4, 12 M3 16 € A'S JIT6H3 U™ &d AGE JF ?
42 JTHES 1,2 M3 4. To|

128 IE5E3 1,2 ,3, 4, 6 M3 12 TS|

168 IEE3 1,2, 4, 8 M3 16

I AUAT J fd 4,12,16 T ATS 5683 1,2 M3 4 TS |
(a) 8, 12,20 (b) 9, 15, 21. T AS JTHUS US" &9

g< fegemit 1 3° frimmer Aftoret € et § ©d

(a) 473 6 < I fqa3 T& 2

A8 qEA4,8,12,16,20,24, ... ...

6 SIEA6, 12, 18, 24, 30, 36, ...

ot feast feg It mifadt Aftmr T fATSt € &3 feg @t T 2
WH SYe IF f& 12,24,36 ST nidt 4 M3 6 T IEH IS |

fegst § 4 m3 6 © A ged faar AT I

(0)3,5M3 6B AS IASAUIT I |.

3 @39 =3,6,9, 12, 15, 18, 21, 24, 27, 30, 33, 36, ...
5 ¥ A =5, 10, 15, 20, 25, 30, 35, ...

6 € JeH = 6, 12, 18, 24, 30, ...

3,5M3 6% A Jied 30, 60, ..TS |

(a) 8,20 (b) 9, 15 & A IIcH U3 3T |

Example 5 : Find the common factors of 75, 60 and 210.

Solution : Factors of 75 are 1, 3, 5, 15, 25 and 75.

Factors of 60 are 1, 2, 3,4, 5, 6, 10, 12, 15, 30 and 60.

Factors of 210 are 1, 2, 3, 5, 6, 7, 10, 14, 15, 21, 30, 35, 42, 70, 105 and 210.
Thus, common factors of 75, 60 and 210 are 1, 3, 5 and 15.

Example 6 : Find the common multiples of 3, 4 and 9.
Solution : Multiples of 3 are 3, 6,9, 12, 15, 18, 21, 24, 27, 30, 33, 36, 39, 42,
45,48, ....



Multiples of 4 are 4, 8, 12, 16, 20, 24, 28, 32, 36, 40, 44, 48,...

Multiples of 9 are 9, 18, 27, 36, 45, 54, 63, 72, 81, ...
Clearly, common multiples of 3, 4 and 9 are 36, 72, 108,...

W JToHS TS

77 a1 At wy& JEaysT €1 g € gy ffo yuz get 7 3 1&r § 67 Al er

JEBYSIAIE [T /7T T |
A WA feue It 24 = 3x8,

3t niAt FTdT & 24 T JeouSiagE J fanr 3 | feg 24 © fEx geadistags I | gd

fern yarg gs:
24 =2 x 12 24 =4 %6 24 =3x8
=2XxX2X%X6 =2XxX2X%X6 =3xX2x2x%x2
=2X2x2x3 =2x2x2x3 =2x2x2x3

24 8 QUT TIAE AT JToUSIadE feg miHt a=ew f&x It Jeausiaas

2x2x2x33Udae Tt |
fer fST 3<% 2 M3 3 It wiz™ Jeats I6 IfaR Aftnr e fer ya9 © Jeousidas
& M3 JIEcusiage faar AT J |
@ fer § Aftmir 36 &t Swe ot |
36
2x18 3 x12 4 x9 6 X 6
| | | |
2xX2x9 3x3x4 2X2x9 2X3X6
| | | |
2X2x3x3 IXx3IX2Xx2| |2X2%Xx3X%X3 2><3><I2><3
|
2xX2x3x3 2X2x3x3

36 T MIH ATOES = 2 X2 X 3 x 3.5 |i.e. 36 € A< n3H JToUSIaIT

1. Aftmr § ufa® Az WS Wid 5% 39T & |
2. WS WX § Y9 BAMQ , M3 TA IJT6US &' <t fER yaT ag |
3. 5 PETHUS § WS Wik &6 <3 |
4. fer fafanr § €€ 37 a9 AE" 39 IT'S AB MIH WA o' 7T AR |

w3 wigt €t B § we 9
« 2,3,5,7,11, 13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67,
71,73, 79, 83, 89, 97...




Example: Prime Factorization of 100

100 = 2 = 50. Two is the first
prime number that goes into
100.

Now we deal with the 50. Divide

2 is a prime it by 2 to get the next factors.
number, so we

are done with it.

25 is not divisible by the first
prime, 2. The next prime, 3,
does not work either. We must
divide by 5 to get a factor.

Both numbers are prime, leaving us
with all primes.

What's the Answer?

* Now, we just list our factors with multiplication signs between
them. Use the circled prime numbers.
e 2x2x5x5

HJ3S-AHUSI3A

WHT 2 Aftet @ AT JITaUs U3T &9 AR I IIE WHT feg U3t a9e 7t fa feast
12 M3 16 © ATS JIcoys faa3 76 ? fEa 1,2 w3 4 T5 | feast aeaust feg <37
fagzr 3 ? feg 4 T 120,28 m3 36 € AT JIcoss fad3 I6 2 €0 1,2,4 5 1 I
feg 4 Tt < AT JEaES T |

T Aftret T HI3S-AHU=I3d SJa Aftmet @ ATS gIeadst 8 A 3° 937
JEa8s T |

fer § AZ 3° <37 AIST =931 & faor AfeT 3 |1 (GCD).

20, 28 M3

(o] O
N£ = ar = for YTAinuret o wer s o =& = v = ey R .




220 2 | 28 2|36
210 214 218
505 707 3o
N o 33
PSS

Thus, 20=|2] (2] 5

e
o0
[
.
.
-

e
@)
|
b
)
W
W

20, 28 M3 36
o ATST gEaus 2 3, fAasT € 9t »r faar T IfeR St 20,28 »i3 36 T H.AS
2x2 =43 |

HIST-AHUTISA (H.C.F)
Hﬂemgeﬁﬂﬁmamwmwf&naeﬁgwwmém
Aer J @UWW%@U@H"@WHWWW?I

HAS UITII6 @ 2 fetin 75 :
i. W3 JTouStads fedt |

ii.gar fedt |

fesmt Afumret T ni3H Jeoustade fedl Ivat H.A.7 fa@ u3T 97t ?
35 fo8 yar 2y :-

1.fe3t 32t Aftor § R Aftmr € ngmgrestst € gt € gu T feug |
2.33 Aftmir 8 A3 ngH gieoust & gat 5278 |
3. At Aftret € ATS gIeoust & gt § AR fagrAfer d |



H.C.F of 12, 36, 48
1. Express the numbers as product of prime factors

12=3%2?
36=32*2?
48 =3%2"

2. The common prime factors are 2 and 3 and the corresponding least indices are 2 and 1 respectively

3. The product of all the common prime factors with the respective least indices

H.C.F of 12, 36,48 =2"*3=12

gra1 fet Irat 2 Aftmret & H.A.T fa< UzT a9idt ?
35 fod yart § fonrs o5 2 -

1. <31 Aftr § 21 Aftr 57 3791 &9 |

2. 221 Aftmr § ufge w1 € I &% 39T &9 |

3.9 Ufg® =&l § gn It 7% F91 &9 Ifeg fafonr € 3x g9 7@ A" 3 =t
0 & nr A< |

4 fer 3191 T wirddt A It € Aftmret @ HA.E J=2dr |

12 M3 512 M3 56 @ HA.E =



feAga e Myt A 4 T, A 12 m3 56 T H.AS =4

F
80)

nding t7e Highest Common Factor

4 2'"\'

) ) g %"‘f«.ﬁ
g 2) (36,

l\-/ \‘ﬁ;”“‘h H‘J_ A:"\
1/27}4-5 5 @ 18)
N AN/ N

(”? $ IQ?
|
2 3 N
Look for common factors in botr trees ‘?{' J
N

Mulipy ther together = 12

S0 118 the Highas: Common Faclor

"2 18 the bggest number that goss into both 30 and 72




43 6 2 AS JIcA faa3 96 ? fgg 12,24,36,.....mfe J&d1 | fegst feg 8@ 3
g faazT 3 ? feg 12 9291 | wirt afg Aee I fa 43 6 @ &2 3 227 ATST JI&H
12 3 | feg 8T &2 3 2" wid T fAR Tt B2 Aftwet JIcoys gom 96 | € A
framrer Aftwret @ AT (LCM ) 895 Aftiei e 82 S 2 AT AIcA T |

8§ M3 12,4 M3 9,6 »3 9, B.A.L fao J=ar ?

Example 8 : Find the LCM of 12 and 18.

Solution : We know that common multiples of 12 and 18 are 36, 72, 108 etc.
The lowest of these is 36. Let us see another method to find LCM of two
numbers.

The prime factorisations of 12 and 18 are :

12=2%x2x%x3;18=2%x3x%x3

In these prime factorisations, the maximum number of times the prime

factor 2 occurs is two; this happens for 12. Similarly, the maximum number
of times the factor 3 occurs is two; this happens for 18. The LCM of the two
numbers is the product of the prime factors counted the maximum number

of times they occur in any of the numbers. Thus, in this case LCM =2 x 2

x 3 x 3 =36.

Example 9 : Find the LCM of 24 and 90.

Solution : The prime factorisations of 24 and 90 are:
24=2x2x%x2x%x3;90=2x3%x3x%x5

In these prime factorisations the maximum number of times the prime factor
2 occurs is three; this happens for 24. Similarly, the maximum number of times
the prime factor 3 occurs is two; this happens for 90. The prime factor 5 occurs
only once in 90.

Thus, LCM =(2x2x2)x(3x3)x5=360

Example 10 : Find the LCM of 40, 48 and 45.

Solution : The prime factorisations of 40, 48 and 45 are;

40=2x2x2x5

48=2%x2x2x2x3

45=3x3x5

The prime factor 2 appears maximum number of four times in the prime
factorisation of 48, the prime factor 3 occurs maximum number of two times
in the prime factorisation of 45, The prime factor 5 appears one time in the
prime factorisations of 40 and 45, we take it only once.

Therefore, required LCM = (2 x 2 x 2 x 2)x(3 x 3) x 5 =720

LCM can also be found in the following way :

Example 11 : Find the LCM of 20, 25 and 30.
Solution : We write the numbers as follows in a row :



Solution : We write the numbers as follows 1n a row -

2020 25 30 (A)

2010 25 15 (B)

305 25 15 (C)

515 25 5 (D)

501 5 1 (E)
11 1

So, LCM - 2x2x3x5x5.

(A) Divide by the lcast prime numbcer which divides atlcast one of the given
numbers. [lere, 1t 1s 2. The numbers like 25 are not divisible by 2 so they
are written as such in the nextrow.

(B) Againdivide by 2. Continue this ill we have no multiples of 2.
(C) Dhiwvide by next pnme number whichis 3.

(D) Divide by next prime number which is 5.

(E) Agamdivideby 5.

Finding the LCM with a Venn Diagram

Write out the prime factors you found for each number

[60=5x3x2x2) (72=2x2x3x2x3

gl

x2x%3

N
»
LW X N X M

Put the common factors in the middle

Then multiply everything to get the LCM
S5x 2x2x3 x2x3 =10%6 % 6=2360




Finding the Lowest Common Multiple

(60 ) | 5x72=360 (72)

\

(2 11030] ™~ (2, (36)
2 1(15) .2 ,118)

2x3x60| 2
=360

Lock for the factors remaining in either tree : 3

Cross multiply with top number in opposite tree
360 is the Lowest Common Multiple of 80 and 72 ‘

Things to remember
- The H.C.F of two or more numbers is smaller than or equal to the smallest
number of given numbers.

- The L.C.M of two or more numbers is greater than or equal to the greatest
number of given numbers.

- The smallest number which is exactly divisible by x, y and zis L.C.M of x, y, z.

- If the H.C.F of the numbers a, b, cis K, then a, b, c can be written as multiples
of K (Kx, Ky, Kz, where x, y, z are some numbers). K divides the numbers a, b, c,
so the given numbers can be written as the multiples of K.

- If the H.C.F of the numbers a, b is K, then the numbers (a + b), (a -b) is also
divisible by K.

The numbers a and b can be written as the multiples of K, a = Kx, b = Ky.
(a+b)=(Kx+Ky)=K(x+Yy)

(a-b) = (Kx - Ky) = K(x —y)

Therefore, (a + b) and (a - b) is also divisible by the H.C.F of a, b.

- Product of two numbers = H.C.F *L.C.M of the two numbers (NOTE: applicable
only for two numbers)

What have we discussed?



1. We have discussed multiples, divisors, factors and have seen how to identify
factors

and multiples.

2. We have discussed and discovered the following :

(a) A factor of a number is an exact divisor of that number.

(b) Every number is a factor of itself. 1 is a factor of every number.

(c) Every factor of a number is less than or equal to the given number.

(d) Every number is a multiple of each of its factors.

(e) Every multiple of a given number is greater than or equal to that number.

(f) Every number is a multiple of itself.

3. We have learnt that —

(a) The number other than 1, with only factors namely 1 and the number itself, is
a

prime number. Numbers that have more than two factors are called composite
numbers. Number 1 is neither prime nor composite.

(b) The number 2 is the smallest prime number and is even. Every prime number
other

than 2 is odd.

(¢) Two numbers with only 1 as a common factor are called co-prime numbers.
(d) If a number is divisible by another number then it is divisible by each of the
factors

of that number.

(e) A number divisible by two co-prime numbers is divisible by their product
also.

4. We have discussed how we can find just by looking at a number, whether it is
divisible

by small numbers 2,3,4,5,8,9 and 11. We have explored the relationship between
digits of the numbers and their divisibility by different numbers.

(a) Divisibility by 2,5 and 10 can be seen by just the last digit.

(b) Divisibility by 3 and 9 is checked by finding the sum of all digits.

(c) Divisibility by 4 and 8 is checked by the last 2 and 3 digits respectively.

(d) Divisibility of 11 is checked by comparing the sum of digits at odd and even
places.

5. We have discovered that if two numbers are divisible by a number then their
sum and difference are also divisible by that number.

6. We have learnt that —

(a) The Highest Common Factor (HCF) of two or more given numbers is the
highest

of their common factors.

(b) The Lowest Common Multiple (LCM) of two or more given numbers is the
lowest

of their common multiples.



Subsection F.1 Reference to PPTs

Pptl.

Divisibility Rules

How do we know when we can
divide one number into another

exactly?

Section G. Listing of Possible Activities

Name of the | Name of the possible activities | Reference of the annexure

concept/ skill / where the details of the

outcome activity have been given in
the already specified format
or reference to the
webaddress

A. Introduction to Annexure GAl

the chapter/creative | Find and paste activity of

art /research | factors

aptitude

B. TO FIND NUMBER
OF FACTORS OF A
GIVEN NUMBER

FIND
FACTORS

NUMBER OF

Annexure GA2




C. TO FIND PRIME
NUMBERS BETWEEN
1 AND 100

PRIME NUMBER ACTIVITY

Annexure GA3

D. PRIME | PRIMATES Annexure GA4
FACTORIZATION
WORKSHEETS 1. MULTIPLES Annexure GC1
A GC2
2. FACTOR FINDING nnexure
3. EVEN AND ODD Annexure Gc3
NUMBERS
4, LCM Annexure GC4
L Home work 1. Exercise 3.1 Annexure GC5
Sheets 2. Exercise 3.2 Annexure GC6
3. Exercise 3.3 Annexure GC7
4. Exercise 3.4 Annexure GC8
5. Exercise 3.5 Annexure GC9
6. Exercise 3.6 Annexure GC10
7. Exercise 3.7 Annexure GC11




Section H. Model Assesment tools for students:
Name: Date:

Multiple mix-up!
Can you find the multiples of 10? Put a circle around
each multiple of 10.

)22 30 41 410

b) 15 276 16 50

c) 25 60 81 7 33
d)100 43 20 99 45
e) 98 99 60 40 21

f) 200 80 78 2 6
g)105 30 13 7 80
hy200 35 1 18 20
i) 50 32 6 27 23
i) 46 1 33 110 40

Can you say how you know a humber is a multiple of 10?
Name: Date:

Multiples of 2

Can you find the multiples of 2? Put a rectangle around
each multiple of 2.

a) 2 33 24 17 21

b) 25 26 76 71 88
c) 21 6 35 7 32

d) 10 34 23 96 45
e) 12 28 20 40 43

f)29 3078 15 66
g)15 50 16 31 90



2. Factors Sheet

1. Name 3 numbers that will divide evenly by 2.
2. Name 3 numbers that will divide evenly by 5.

3. Name 3 numbers that will divide evenly by 10.

4. Continue this number sequence in both directions.

5. One number is in the wrong place on the Venn diagram.
Which one is it?

Numbers
Multiples of 10 greater than
100
90 171
42

6. Make these two-digit numbers using only the digits 7, 5, 2, 1
a. An even number
b. A multiple of 5
c. A square humber
d. A multiple of 9



3.even odd sheet :

Odd and Even Numbers

LO: To be able to recognise odd and even numbers.

Circle the even numbers green and circle all the odd numbers red:

1 2 3 4 5 6 7

How many? Odd or Even?

9

Circle the even numbers green and circle all the odd numbers red:

18 12 10 5

w
~N
8
—
O



4.prime number sheet

Prime Numbers

A Prime Number is a number which can only be divided
equally by 1 or itself.

eg. 7 i1s a prime number because only 1 and 7 will divide
into 7 equally

Find all the prime numbers by colouring all the times
tables. You should then be left with all the prime
numbers. Start with the two times table - but do not
colour the 2 - why??

11234/ 5 6|7/8]9/10
11112/13/14/15/16/17/18|19|20
21/22|23|24/25|26/27/28|29 30
31132/33/34/35 36/37/38/39/40
41/42|/43/44/45 46 47|48|49|50
5152/53/54/55/56|/57/58/59 60
61 62/63/64/65 66676869 70
7172\73/74/75/76/77/78|79|80
81 82/83/84|85 86 8788|8990
919219319495 96/97/98|99100

5. Prime factorization



Name : Score :
Teacher: Date :
Find the Prime Factors of the Numbers
1) 50 2) 54 3) 84
C( 2 d 2
_ / _

d\
O

7

O
offe

ofie



Lcm sheet

mm a4

=z EXERCISE 27

-éﬁ

Simply list the multiples of each number (multiply by 2, 3, 4, etc.) then look for the
smallest number that appears in each list.

( A common multiple is a number that is a multiple of tweo or more numbers. )

_______________

| Example:
' Find the least common multiple for 5, 6, and 15

sess ([ o] s (o[ mEFEEEE)
sess (el o mEe aw s ee) |
s s RIS |

I

| Now, when you look at the list of multiples, you can see that 30 is the
| smallest number that appears in each list. Therefore, the

| Least Common Multiple, (L.CM.) of 5,6 and 15 is 30.

1 Canyou find the L.CM. of 4,8 and 67

Multiples of 4 GGDDDDDGDD L.CM. of
Matptesof () JL XL L)) )
mpesare [ ) L X X L XXX [ ]

2 Can you find the LCM. of 2,4 and 57

Masplesof 2 (LY LI (oo
Matplesof 4 (L L)) D
Multiples of 5 DDDDDDGDDD

3 Can you find the LCM. of 8,9 and 127

Maselesors () JCJCJOCICICIO) [ iemo
ey [JYYYYYYYY | oo

Multples of 12 DC]DDDDD[:]DD D

o




Section I. Model Assesment tools for Teachers:

1. Name 3 numbers that will divide evenly by 2.
2. Name 3 numbers that will divide evenly by 5.

3. Name 3 numbers that will divide evenly by 10.

4. Continue this number sequence in both directions.

5. One number is in the wrong place on the Venn diagram.
Which one is it?

Numbers
Multiples of 10 greaterthan
100
90 171
42

6. Make these two-digit numbers using only the digits 7,5, 2, 1
a. Aneven number
b. Amultiple of B
c. A square number
d. Amultiple of 9



1. One number is in the wrong place on the Venn diagram.
Which one is it?

Numbers
Multiples of 10 greaterthan
100
90 171
42

2. Make these two-digit numbers using only the digits 7,5, 2,1
e. Aneven number

f. Amultiple of 5
g. A square number

h. A multiple of 9
i. Afactorof 96|
j- A common multiple of 3 and 4

3. Using the numbers 60,15, 22 and 21
Think of properties that are true for two of them but
false for the other two. (Think of multiples and factors)



1. Place all of the numbers from 1 to 30 in the correct place on
this Venn diagram.

Multiples of 2 Multiples of 5

What do you notice about the numbers which are multiples of
both 2 and 5?

2. Continue this number sequence in both directions.

3. Look at this number sentence:

( )+ - 15

What could the two missing numbers be? Find all the pairs of
numbers that make 15. How do you know you have them all?




-2

PRACTICETEST
Find the L.C.M of 12. 15. 18 and 27.
a) 1.080 b) 540
¢c) 270 d) 760
Find the H.C.F. of 72. 48 and 30.
a) 30 b) 12 c) 6 d) 3
Find the L.C.M. of 2%x3°x5° and

2°x3%x 5.

a) 27.000 b) 180
c) 36 d) 13.500
Find the L.C.M fgi di
111C e JoUWL O 5_10 aIl 15
A —
9 3 )23
L o24 .2
© 750 ) 5
ind tl i —andi
Find the HC.F. ot 5 ,10 15
1 84
9 3 ) 5
84 1

c) % d)ﬁ



6. If the L.C.M of x and v 1s z. their H.C.F.
1s.

a) —— b) xvyz

X+ v z
] d)

7. H.C.F of two numbers 1s 24 and their
L.C.M 1s 1080. If one of the numbers 1s 120.
find the other.

a) 216 b) 532 ¢) 108 d) 820
8. L.C.M. of 2.5. 0.5 and 0.175 = ?

a) 2.5 b) 0.5

¢) 0.175 d) 17.5

9. H.CF. of two numbers 1s 24 and their
L.C.M 1s 1344. If the difference between the

numbers 1s 80. their sum 1s:
a) 368 b) 356
¢) 332 ) 304
10. Find the greatest number which can di-

vide 1354, 1866 and 2762 leaving the same
remainder 10 in each case.

a) 64 b) 124 ¢) 156 d) 260

11. Find the least perfect square which 1s di-

wvisible by 3. 4. 5. 6 and 8.

a) 2500 b) 1200
c) 3600 d)y 900
12. The least number which when divided by

15. 27. 35 and 42 leaves in each case a re-

mainder 7 is:

a) 1897 b) 1987
c) 1883 d 2007
13. Two containers contain &0 and 165 litres

of milk respectively. Find the maximuim capac-
ity of a container which can measure the milk
in each container an exact number of times
(in litres)
a) 15 by 3 c) 5 Ay 10

14. Two baskets contain 195 and 250 ba-
nanas respectively. which are distributed in
equal number among children. Find the largest
nummber of bananas that can be given. so that
3 bananas are left over from the first basket
and 2 from the second.

ad) 4 by 18 c) 8 d)y o



Find all the prime numbers from the table

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

23

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

/1

/2

/3

74

/5

76

77

/8

79

80

81

82

83

84

85

86

87

88

89

90

o1

92

93

94

95

96

97

98

99

100




Annexure 1

Annexures

Performa for giving details about an activity

Annexure Name

GAl

Name of the activity

FIND AND PASTE ACTIVITY OF FACTORS

Specify the topic and its

convergence (inter discipline)

FACTORS AND MULTIPLES

Type of the activity( individual
activity/ group activity / home
activity etc.)

Group activity

Material required for the activity

CHART , COLORS , DOUBLE SIDED TAPE

Any specific preparations required
in the class room for preforming
the activity

Students must be divided into two to three groups
according to class size

Details of the activity and detailed
instructions to carry it out

THE TEACHER WILL PASTE THE NUMBER ON THE
BLACKBOARD AND ASK THE STUDENTS TO PASTE THE
FACTORS OF THAT NUMBNER ON THE BOARD OR THEIR
RESPECTIVE BENCH.

Pictures describing the activity, if
any

TEACHER CAN USE DIFFERENT MIUMBNERS AS SHOWN IN
THE PIC...




Any precautions to be kept in
mind

The teacher should keep a watch on groups while performing
this activity

Explanation of the outcomes of the
activity

Students will have a practice OF FINDING FACTORS

Objective  assessment of the
learning

Work sheet GC1 AND GC2

Annexure Name

GA2

Name of the activity

FIND NUMBER OF FACTORS

Specify the topic and its
convergence (inter discipline)

FACTORS AND MULTIPLES

Type of the activity( individual
activity/ group activity / home
activity etc.)

INDIVIDUAL

Material required for the activity

NOTE BOOK

Any specific preparations required
in the class room for preforming
the activity

NIL

Details of the activity and detailed
instructions to carry it out

THE TEACHER WILL GIVE DIFFERENT NUMBERS TO
STUDENTS AND ASK THEM TO FIND THERE FACTORS THEN
ASK THEM TO WRITE THE NUMBER OF FACTORS OF THE
GIVEN NUMBER.




Pictures describing the activity, if
any

THE TEACHER WILL CONDUCT THE ACTIVITY AS FOLLOWS:

p

You need ] a classmate
Z multilink cubes or square dot paper (optional)

Basic Facts-Level 34

How Many Factors?

Activity

Some numbers have six factors:
12 has the factors 1, 2, 3, 4, 6, and 12,

Some numbers have four factors:
10 has the factors 1, 2, 5, and 10.

Some numbers have three factors:
4 has the factors 1, 2, and 4.

Some numbers have two factors:
7 has the factors 1 and 7.

Investigation ==
With a classmate, find ways to group these numbers, i
for example, those with only two factors and those

with only three factors. |

Discuss what each group has in common.

Any precautions to be kept in
mind

The teacher should keep a watch on THE STUDENTS while
performing this activity

Explanation of the outcomes of the
activity

Students will have a practice OF FINDING FACTORS

Objective  assessment of the

learning

Work sheet GC1 AND GC2




Annexure Name

GA3

Name of the activity

PRIME NUMBER ACTIVITY

Specify the topic and its

convergence (inter discipline)

PRIME NUMBERS

Type of the activity( individual
activity/ group activity / home
activity etc.)

INDIVIDUAL/GROUP

Material required for the activity

NOTE BOOK AND 100 NUMBER CHART

Any specific preparations required
in the class room for preforming
the activity

NIL

Details of the activity and detailed
instructions to carry it out

TEACHER WILL MAKE A 100 NUMBER CHART ON THE
BLACKBOARD AND DISTRIBUTE THE SAME TO STUDENTS OR
ASK THEM TO MAKE THE CHART ON THEIR NOTEBOOKS.
THEN HE EXPLAIN THE CONCEPT OF PRIME NUMBERS. THEN
STARTING FROM 2 HE WILL TELL THE STUDENST TO
ENCIRCLE 2 AND CUT ALL THE MULTIPLES OF 2 . THEN
ENCIRCLE THE NEXT UNCUT NUMBER AND CUT ALL THE
MULTIPLES OF THAT NUMBER ALSO......HE WILL CONTINUE
THE PROCEDURE UNTIL ALL THE NUMBERS ARE EITHER
ENCIRCLED OR CUT.

THEN ENCIRCLED NUMBERS ARE PRIME NUMBERS

Pictures describing the activity, if
any

THE TEACHER WILL CONDUCT THE ACTIVITY AS FOLLOWS:

1] 2]3]4]5]6 |7 8] 9] 10
111213 ] 1415|1617 ] 18] 19] 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
31 132 33|34 |35 |36 |37 |38 39] 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
7172 |73 |74 | 75 | 76 | 77 | 78 | 79 | 80
81 | 82 | 83 | 84 | 85 | 86 | 87 | 88 | 89 | 90
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100




Any precautions to be kept in | The teacher should keep a watch on THE STUDENTS while

mind

performing this activity

Explanation of the outcomes of the | Students will have a practice OF FINDING PRIMES

activity

Objective assessment of the | Work sheet GC1 AND GC2

learning

Annexure Name

GA4

Name of the activity

PRIMATES

Specify the topic and its
convergence (inter discipline)

PRIME NUMBERS

Type of the activity( individual
activity/ group activity / home
activity etc.)

GROUP

Material required for the activity

DICE AND PRIMATES CHART

Any specific preparations
required in the class room for
preforming the activity

NIL

Pictures describing the activity, if
any

THE TEACHER WILL CONDUCT THE ACTIVITY AS FOLLOWS:




You naedm counters (two calours) m twao dice marked 4, 5,6, 7, 8, and 9

m 2 dassmate
Activit

Primates, a game for two players, can be played using the board on page 23.
Nalita and Tipene are playing Primates.

Makita goes first. She rolls the two dice and multiplies the numbers to gt a product.

Fub =30 OK!

Su2x3i=30

On her half of the
board, Nakila uses
counters to cover a
set of factors that
multiply to her
product {30).

They continue taking turns until one
player has no uncovered factors that
make their product.

The second player continues until they
too have no uncovered factors that
make their product.

‘When both players have Enished, they
add up their uncovered numbers.

The winner is the person with the
lowest toeal.

Wha has won this game?

Explain your answer.

Any precautions to be kept in
mind

The teacher should keep a watch on THE STUDENTS while
performing this activity

Explanation of the outcomes of
the activity

Students will have a practice OF FINDING PRIMES

Annexure Name

G(C1

Name of the activity

MULTIPLES




NAME

WORKSHEET

Counting in 3s

WORKSHEET FOR INTEGERS AND ABSOLUTE VALUE

1 23456 7 ]8]9]10
11 112 113 |14 |15 16 | 17|18 |19 | 20
2122123124 25|26|27 28|29 |30

e Can you colour the multiples of 3 up to 30?

e Can you complete the grid up to 50 and colour the multiples of 3?

Which number is the 4th multiple of 3?

What is the next multiple of 3 after 24?

What is the multiple of 3 before 21?

Which multiples of 3 are between 20 and 29?

Which multiples of 3 are larger than 39?




Are there more even numbers than odd numbers when we look at the multiples of
3?

Can you see any patterns when counting in multiples of 3? What patterns can you
see?

Annexure Name GCZ

Name of the activity FACTORS FINDING

NAME

Factor Finding

Find the factors for each of these numbers. Go through the 2, 3, 4,5, 10, 11 times tables and see if the number
comes up in any of them!




10.18
11.Write down the first 5 PRIME numbers:
12. Explain why even numbers (apart from 2!) cannot be prime numbers:

Annexure Name GC3

Name of the activity EVEN AND ODD NUMBER

NAME
Odd or even?
/\ /\




Annexure Name GC4

Name of the activity

NAME

EXERCISE 27

Simply list the multiples of each number (multiply by 2, 3, 4, etc.) then look for the
smallest number that appears in each list.

( A common multiple is a number that is a multiple of two or more numbers, )

_______________________________________________

| Find the least common multiple for 5, 6, and 15
| Multiples of 5 [ 5 J 0] 15 ] 20 25][30] 35 ) 40 45 50| 55|

waiscrs (Yo [afEie )]s fe)er) | NEEI) -
| Muttiples of 15 [ 15](30] 45 60 [ 75 ][ 90] 105 120 .E]@]@] -.

| Now, when you look at the list of multiples, you can see that 30 is the ' 3
I smallest number that appears in each list. Therefore, the i
| Least Common Multiple, (L.C.M.) of 5,6 and 15 is 30. i

1 Can you find the LCM. of 4,8 and 67

Multiples of 4 :QF qnﬁrﬂF : LCM. of
Multiples of 8 u J 4,8and 6
Multiples of 6 _U[_ _JU_.L,[_]L | @

2 Can you find the L.CM. of 2,4 and 5?

Multiples of 2 | " l[ ] [ ] LCM. of
Multiples of 4 | " || | | | Il 2,4and5
= B i

Multiples of 5 [ [ " ][ ] ]

3 Can you find the L.CM. of 8,9 and 12?
Multiples of 8 [ [ ][ ][ ] ]l L.CM. of

0
ieperers (Y YY) | oo
B

!

Multiples of 12 [ )] _]L]_][_

> 2N 8 IN1213_E_030734
T 3,




Annexure Name GC 5

Name of the activity Exercise 3.1

o

Y= =% EXFERCISE 3.1

1.

2.

3.

—

Wiite all the factors of the following numbers :

(@ 24 (b) 15 (c) 21
d 27 (e) 12 ® 20
(g) 18 () 23 1 36
Wirite first five multiples of :

@) 5 (b) 8 () 9

Match the items in column 1 with the items in column 2.

Column 1 Column 2

@ 35 (a) Multiple of 8
@ 15 (b) Multiple of 7
(m) 16 (c) Multiple of 70
(w) 20 (d) Factor of 30
(v) 25 (e) Factor of 50

(f) Factorof20

4. Find all the multiples of 9 upto 100.




Annexure Name GCG

Name of the activity Exercise 3.2

—— EXERCISE 3.2

e

1. Whatis the sum of any two () Odd numbers? (b) Even mumbers?

B

=

o

Stale whether the Tollowing stalements are Troe or False:

(a) Thesum ofthresodd nmumbers is even.

(k) Tl sum ol wo odd nuonbers aod one cven numiber is even,

{c) Theproduct of three odd mumbers 1s odd.

(d) Ilaneven number is divided by 2 (he quotienl 1s alwiys odd.

() All prime numbers are odd.

() Prime nuinbers do nol bive aoy faclors.,

(g) Swmof two prime numbers is always cven.

(h) 2istheonly even prime munber

1) Al even nuimibers ars corpposile mnnbers.

() The productof two even numbers is always even.

The numbers 13 and 31 are prime numbers. Both these numbers have same digrts |
and 3. Findsuch pairs of prime mwabers wpto 100,

Wit down scparately the prime and composite numbers less than 20,
Whatis the greatest prime nwmnber betarecn 1 and 107

Exprass the lollowmg as the soan ol bwo odd primes.

(@ A1 ()36 © 24 (d) 1S

. Give three pairs of prime numbers whose differenceis 2.

[Restmiark : Two prie numibers whose dillerence 1 2 are called (win primes].
Which of the following numbers are prime?

10. Express each of the following numbers as the sum of three odd primes:
(@) 21 (b) 31 (c) 53 (d) 61
11. Write five pairs of prime numbers less than 20 whose sum 1s divisible by 5.
(Hint : 3+7=10)
12. Fill in the blanks :
(a) A number which has only two factorsis called a
(b) A number which has more than two factors is called a
(c) 11sneither nor
(d) The smallest prime number is
(e) Thesmallest composite number is
(f) The smallest even number is




Annexure Name

GC7

Name of the activity

Exercise 3.3

1. Using divisibility tests, determine which of the followng numbers are divisible by 2:
by 3: by 4: by 5: by 6: by 8; by 9: by 10 : by 11 (say, yes or no):

Number

Divisible by

128

990

1586

275

6686

639210

429714

2856

3060

406839

. Using divisibility tests, determine which of the following numbers are divisible by

4: by 8&:
(a) 572 (b) 726352 (c) 5500 (d) 6000 (e) 12159
(H) 14560 (g) 21084  (h) 31795072 (1) 1700 (4) 2150

. Using divisibility tests, determine which of following numbers are divisible by 6:

(a) 297144 (b) 1258 () 4335
(f) 438750 (g) 1790184 (h) 12583

(d) 61233 () 901352
@ 639210 () 17852

. Using divisibility tests, determine which of the following numbers are divisible by 11:

(a) 5445  (b) 10824 (c) 7138965 (d) 70169308 () 10000001
() 901153

. Wiite the smallest digit and the greatest digit in the blank space of each of the following

numbers so that the number formed 1s divisible by 3 :
(@ 6724 (b) 4765 2

Annexure Name GC8

Name of the activity

Exercise 3.4




Z—= EXERCISE 3.4

. Find the common factors of :

(a) 20and 28 (b) 15 and 25 (¢) 35and50 (d) 56 and 120

. Find the common factors of :

(a) 4.8and 12 (b) 5, 15and 25

3. Find first three common multiples of :

(a) 6and 8 (b) 12 and 18

4. Write all the numbers less than 100 which are common multiples of 3 and 4.

. Which of the following numbers are co-prime?

(a) 18and 35 (b) 15and 37 (c) 30and415

(d) 17and 68 (e) 216and 215 (f) 81 and 16

. A number is divisible by both 5 and 12. By which other number will that number be
always divisible?

. Anumber is divisible by 12. By what other numbers will that number be divisible?




Annexure Name GC9

Name of the activity Exercise 3.5

2~ EXERCISE 3.5

1. Which of the following statements are true?
(a) Ifanumber is divisible by 3. it must be divisible by 9.
(b) Ifanumber is divisible by 9, it must be divisible by 3.
(c) Anumberis divisible by 18, if it 1s divisible by both 3 and 6.
(d) Ifanumber is divisible by 9 and 10 both, then it must be divisible by 90.
(e) Iftwonumbers are co-primes, at least one of them must be prime.
() All numbers which are divisible by 4 must also be divisible by 8.

(g) All numbers wluch are divisible by 8 nmst also be drvisible by 4.

() If'a number exactly divides two numbers separately, it must exactly divide their
Slum.

(i) Trammber exactly divides the sim of two nmmbers. it must exactly divide the rwo
numbers separately.

2. Here are two different factor trees for 60. Write the nmissing numbers.

(a)
60
'6/ \10
\? 5/

/ N,

2

()

7

60
m/\
_\?

/lﬂ

? ?

VAN




[ 5]

Which factors are not included i the prime factorisation of a composite number?
‘Write the greatest 1-digit number and express it i terms of 1ts prime factors.
Write the smallest 5-digit number and express it i the form of 1ts prime factors.

e o =

Find all the prime factors of 1729 and arrange them in ascendmg order Now state the
relation, if any: between two consecutive prime factors.
7. The product ol ibree consecibive nombers 1s always civisiblz by 6. Vinly (s statemeni
with the help of some examples.
8  The sum of two consecutive odd numbers is divisible by 4 Verify this statement with
the help of some examples.
9. Tnwlich olihe followmg expressions, prime factonsaiion has been done?
(a) 24=2x3 x4 (b) 56=7x2%2x%2
(c) T0—2=5=7 (d) 54—2=3x90
10. Deternune 1f 25110 1s divisible by 45.
[Hint : 5 and 9 arc co-prime numbers. Test the divisibility of the number by S and 9].
11. 18 1s drvisible by both 2 and 3. It 1s also divisible by 2 = 3=6. Sumilarly, a munber
15 divisible by both 4 and 6. Can we say that the number must also be divisible by
4 < 6=247 If not, give an example to justify vour answer.

12. T am the smallest number, having four different prime factors. Can vou find me?

Annexure Name GC 10

Name of the activity Exercise 3.6

~ = EXERCISE 3.6

-

1. Find the HCF of the following numbers :

(a) 18, 48 (b) 30,42 (c) 18, 60 (d) 27, 63
(e) 36,84 M 34,102 (g) 70, 105, 175
M) 91,112,49 (@) 18,54, 81 () 12,45,75

2. What is the HCF of two consecutive
(a) numbers? (b) evennumbers?  (c¢) odd numbers?

3. HCF of co-prime numbers 4 and 15 was found as follows by factorisation :

4=2x2and 15=3 x 5 since there 1s no common prime factor, so HCF of 4 and 15
15 0. Is the answer correct? If not, what is the correct HCF?




Annexure Name GC11

Name of the activity Exercise 3.7

Z~— EXERCISE 3.7

EA L

'{‘-("(. | Ml

I Remm muchases two bags of fertiliser of weights 73 kg and /9 kg Find the maximum
value of weight which can measure the weight of the fertiliser exact number o fimes.

I~

Three boys step off together from the same spot. Their steps measwe 63 cm., 70 cm
and 77 an respeclively. Whiat 1s the mmmmunn distance each should cover so that all
can cover the distance in complete steps?

3. Thelength. breadth and height ofa room are 825 ¢, 675 cmand 150 co respectively.
Find the longest tape which can mcasurc the three dimenstons of the room exactly.
Determine the smallest 3-digit mumber which is exactly divisible by 6. 8and 12.
Dctormune the greatest 3-digit number exactly divisible by 8. 10 and 12.

‘I 'he traffic lights at three different road crossimgs change after every 48 seconds, 72
seconds and 108 seconds respectively If thev change simultansously at
7 a.m.. at what time will they chenge simultaneously again?

7. Three tankers contam 403 hires. 434 lilres and 465 lilres ol diesel respectively. Fd
the maximum capacity of a container that can measure the diesel of the three containers
exact mmber of fimes.

8. Findthe Icast iumber which when divided by 6, 15 and 18 leave remainder 5 incach

case.

Find the smallest 4-digit number which 1s divisible by 18, 24 and 32.

o w o

=]

10. Find the LCM of the following numbers :
(3 9and4 (b) 12and5 (c) 6and5 (d) 15and4

Observe a common property in the obtained LCMs. Is LCM the product of two
numbers in each case?

11. Find the LCM of the following numbers in which one number is the factor of the
other.

(@) 5,20 (b) 6,18 (c) 12,48 (d) 9,45
What do you observe in the results obtained?
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Children must be encouraged to ask questions

in their groups and accordingly been answered
by themselves.



